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1) [3X2 + 3y2 = 75]+3 => (X - 0)2 + (Y - 0)2 = 52
C = (0, 0) R =5

2) on the graph

3) (X - 2)2 + (Y + 2)2= 22

4) on the graph

5) X2 + 2X + 1 + y2 + 2Y + 1 = 34 + 2
(X + 1)2 + (Y + 1)2= 62
C=(-1,-1) R=6

6) on the graph

7) 9X2 + 25y2 = 225, center = (0, 0)

8) Y = 0 => 9X2 = 225
X2=25 => X=±5

9) X = 0 => 25y2 = 225
y2 =9 => Y= t 3

10) on the graph

11) AC2 = 9 + 9 = 18
AC = .f18 = 3.[2

12) BC2 = 9 + 36 = 45
BC =.J4s = 3.[5

13) ( 3; 0 ), ( 6 ~ 0 ) = (-%-' 3 )

14) (3~6 ),( 6~3 )=(T'T)

15) 2Y=-2X-3 => Y=-X-3/2

Y = -X + b => (4) = -(-2) + b

2 = b Y = -X + 2

16) on the graph

17) m = -3 so perpendicular is 1/3

Y=1/3X+b => (3)=1/3(1)+b

2213 = b Y=1/3X+22/3

18) on the graph
5Y s -4X => Y s -415 X

19) (-2) s -4/5(-2)
-2 s 815 yes

(2) s -4/5 (2)
2's -8/5 no

20) solid, on the graph
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1) Y = 3X2

3) Y = 1/3X2

5) X = -3y2 + 1
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1) Y=2X2+5

"

-
3) X=1/2Y2+3

5) Y=-6X2+1/2
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2) 2X = -4Y + 8
X = _2y2 + 4

J

4) 3X2 = Y + 1
Y = 3X2_1

6) X = y2+ 5
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1-2) X Y 3-4) X Y
0 -3 0 4
1 -2 1 1

-1 -2 -1 1
2 1 2 -8
-2 1 -2 -8

see graph see graph

5)

6) -2

7) 1/2

8)

9) [2X2 + 2y2 = 8] + 2 =* X2 + y2 = 4
(X - 0)2 + (Y - 0)2 = 22
C = (0, 0) R = 2

10) on the graph

11) (X - 1)2 + (Y + 1)2 = 32

(X - 1)2 + (Y + 1)2 ~ 9

12) on the graph

13) (0,0)

14) X = 0 =* y2 = 9 Y = 0 =0> X2 = 4
Y=t3 X=t2

15) AB2 = (4 - 2)2 + [4 - (-1)]2 = 29

AB = -J29
16) BC2=(-1-4)2+(2-4)2=29

BC = -J29

17) (~),(" 1 ;2 ) = (T'T)
18) (2;4 i« -1;4 )=(3,1T)
19) 2Y=-2/3X+1 =0> Y=-1/3X+1/2

m = -1/3 so perpendicular is 3
Y = 3X + b =0> (3) = 3(2) + b

-3 = b Y = 3X - 3

20) 5Y> 3X + 5 =0> Y > 3/5X+ 1

(0) > 3/5(0) + 1
0>1
no

(2) > 3/5(0) + 1
2>1
yes
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1-2) Y = 112 X2 + 2
X Y
o 2
1 21/2

-1 21/2
2 4

-2 4
see graph

3-4)

W
o -1
1 -1 1/2

-1 -11/2
2 -3
-2 -3

see graph

2

5) -2

6) 3

7) 3

8) 0

9) X2 - 4X + 4 + y2 - 2Y + 1 = 4 + 5
(X - 2)2 + (Y - 1)2 = 32
C = (2,1) R =3

10) on the graph

11) (X + 2)2 + (Y + 1)2 = 52
(X + 2)2 + (Y + 1)2 = 25

12) on the graph

13) (-2,1)

14) Xterm =0 => Y=3,-1
Y term = 0 => X = 2, -6
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15) AB2 = (6 - 0)2 + (3 - 0)2 = 45

AB = .J45 = 3 .J5
16) AC2 = (-1 - 0)2 + (-3 - 0)2 = 10

AC = Fa
6 -1 3 - 3 1

17) (-2-)' (-2-) = (22' 0)

18) ( 6~0 ),( 3~0 )=(3,1+)

19) 5Y=X+10 => Y=1/5X+2

m = 115 so perpendicular is -5
Y=-5X+b => (-2)=-5(1)+b

3 = b Y = -5X + 3

20) -Y>-X+1/2 => Y<X-1/2

#20_
(0) < (0) - 1/2

0<-112 no
(0) < (3) -1/2

.0<2112 yes
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1-2) Y = -2X2
X Y
o 0
1 -2

-1 -2
2 -8
-2 -8

see graph

3-4) Y = 2X2 - 1
X Y
o -1
1 1

-1 1
2 7
-2 7

see graph

5) -2

6) 1

7) -1/2

8) 2

9) X2 + y2 = 16
(X - 0)2 + (Y - 0)2 = 42
C = (0, 0) R=4

10) on the graph

11) (X - 0)2 + (Y - 2)2 = 32

X2 + (Y - 2)2 = 9

12) on the graph

13) (1 - 1)

14) Xterm=O => Y=1,-3
Y term = 0 ee- X = 5, -3

15) AB2 = [0 - (-5)]2 + [4 -5]2 = 25 + 1 = 26

AB = .J26

16) AC2 = [4 - (-5)]2 + [-3 - 5]2 = 81 + 64 = 145
AC = .['145

17) (4;0 )'C3;4 )=(2,+)

-5+0 5+4 1 1
18) (-2-)'(-2-) = (-22,42)

19) 4Y=X+6=>Y=1/4X+11/2

m = 1/4 so perpendicular is-4
Y = -4X + b => (3) = -4(0) + b

3 = b Y = -4X + 3

20) (0) > 4(0) - 3/2
0> - 3/2 yes

(0) > 4(2) - 3/2
0> 6112 no
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